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Fa(g) +2¢° S 2F (aq) +2.87
Co*ag) + & 5 Co?pg) +1.82
O,(g) +4H (aq) + 4 5 2H,0(]) +1.23
Bry(l) +2e” &% 2Br(aq) +1.07
Ag'(aq)+e 5 Ag(s) +0.80 _I
NO;(aq) + 2H (aq) + & 5 NOs(g) + H,0(1) +0.80
Fe''(aq) +¢ 5 Fe’'(aq) +0.77
L(s)+2¢ S 2I(aq) +0.54
Cu'(aq) + ¢ 5 Cu(s) +0.52
04(g) + 2H,0(I) + 4¢” 5 40H (aq) +0.40
Cu”"(aq) + 2¢° 5 Cu(s) +0.34
Sn""(aq)+2¢ S Sn'(aq) +0.15
Cu“(aq)+e & Cu'(aq) +0.15
2H (aq)+2¢” S Hy(g) 0.00
Pb’"(aq) +2¢ 5 Pb(s) -0.13
Sn“'(aq) +2¢° 5 Sn(s) -0.14
Ni“"(aq) + 2¢” 5 Ni(s) -0.26
Cd“"(aq) + 2¢’ & Cd(s) ~0.40
Zn“"(aq) +2¢ 5 Zn(s) -0.76
2H,O(l) + 2¢” S Hy(g) + 20H (aq) -0.83
Al'(ag) + 3¢ 5 Al(s) -1.66 |
Mg '(aq) + 2e” 5 Mg(s) R
Na'(aq) +e 5 Na(s) -2.71
Ca*'(aq) +2¢ % Ca(s) -2.87

K@ag+e S K(s) -2.93

|Li'(aq) +e 5 Li(s) -3.04
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